
ŘEŠENÍ CJGZD10C0K01 
 
Český jazyk a literatura 
 

 Celkem Uzavřených Otevřených 
Počet úloh 32 32 0 
Počet svazků 5 5 0 

 
Druh 
úlohy 

Úloha 
Správné 
řešení 

Body 

U 1 B 2 
U 2 C 2 
U 3 D 2 
U 4 D 2 
U 5 D 2 
U 6 D 2 
U 7 D 2 
U 8 B 2 
U 9 A 2 

SU 
(Dich.) 

10  max. 3 b. 
4 podúlohy 3 b. 
3 podúlohy 2 b. 
2 podúlohy 1 b. 
1 podúloha 0 b. 
0 podúloh 0 b. 

 10.1 Ne 
 10.2 Ano 
 10.3 Ne 
 10.4 Ne 

SU 
(Dich.) 

11  max. 3 b. 
4 podúlohy 3 b. 
3 podúlohy 2 b. 
2 podúlohy 1 b. 
1 podúloha 0 b. 
0 podúloh 0 b. 

 11.1 Ano 
 11.2 Ne 
 11.3 Ne 
 11.4 Ano 

SU 
(Dich.) 

12  max. 3 b. 
4 podúlohy 3 b. 
3 podúlohy 2 b. 
2 podúlohy 1 b. 
1 podúloha 0 b. 
0 podúloh 0 b. 

 12.1 Ne 
 12.2 Ne 
 12.3 Ano 
 12.4 Ne 

U 13 A 2 
U 14 D 2 
U 15 C 2 
U 16 C 2 
U 17 C 2 

SU 
(Usp.) 18 D, A, C, B 3 

SU 
(Přiř.) 19  max. 2 b. 

3 podúlohy 2 b. 
2 podúlohy 1 b. 
1 podúloha 0 b. 
0 podúloh 0 b. 

 19.1 D 
 19.2 B 
 19.3 A 

U 20 B 2 
U 21 A 2 
U 22 D 2 
U 23 C 2 
U 24 B 2 
U 25 C 2 



U 26 D 2 
U 27 D 2 
U 28 B 2 
U 29 A 2 
U 30 B 2 
U 31 C 2 
U 32 C 2 

Celkem 68 
 


